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6.97
-5.95

6.44
—6.61

3.06
—6.87

3.02
—-5.08

3.56
—2.38

6.66
—6.66

4.21
—6.36

3.58
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4.33
—2.96

3.21
—3.51

3.5
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38.61
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2.37
-4.31
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g

2.9
—-5.65

7.43
—-3.29

6.66
—-5.2

1.56
—3.93

3.25
—9.61

A7

71.27
—-3.83

9.31
—-6.79

7.76
—/.98

1.86
—5.68

2.11
—3.1
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2 HI:

6.97 3.56
—-5.95 —2.38
1.02 1.18
6.44 6.66
—6.61 —6.66
-0.17 0
1.38 4.21
-9.2 —6.36
—7.82 -2.15
3.06 3.58
—6.87 —/.51
—3.81 -3.93
3.02 4.33
—-5.08 —2.96
—-2.06 1.37

3.21
—3.51
-0.3

3.5
—6.81
—-3.31

3.61
-5.8
2.81

2.37
-4.31
-1.94

3.71
—-/.07
—-3.36
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2.9
—-5.65
—2.75

7.43
-3.29
4.14

6.66
—-5.2
1.46

1.56
—-3.93
—2.37

3.25
—9.61
—6.36

A7

7.27
—-8.83
-1.56

9.31
—-6.79
2.52

7.76
—/.98
-0.22

1.86
—5.68
—-3.82

2.11
—3.1
-0.99
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